



Two Reliable Methods for Solving the Modified Improved Kadomtsev-Petviashvili Equation

N. Taghizadeh and S.R. Moosavi Noori

Department of Pure Mathematics

University of Guilan

P.O. Box 1914, Rasht, Iran

taghizadeh@guilan.ac.ir; moosavinooori@msc.guilan.ac.ir

Received: October 10, 2011; Accepted: August 15, 2012

Abstract

In this paper, the tanh-coth method and the extended (G'/G)-expansion method are used to construct exact solutions of the nonlinear Modified Improved Kadomtsev-Petviashvili (MIKP) equation. These methods transform nonlinear partial differential equation to ordinary differential equation and can be applied to nonintegrable equation as well as integrable ones. It has been shown that the two methods are direct, effective and can be used for many other nonlinear evolution equations in mathematical physics.

Keywords: Tanh-Coth method, Extended (G'/G)-expansion method, Modified Improved Kadomtsev-Petviashvili (MIKP) equation

MSC 2010 No.: 47F05, 35Q53, 35Q80, 35G25

1. Introduction

The investigation of the exact solutions to nonlinear partial differential equations (NLPDEs) plays an important role in the study of many physical phenomena. With the help of exact solutions, when they exist, the mechanism of complicated physical phenomena and dynamical processes modeled by these NLPDEs can be better understood. They can also help to analyze the stability of these solutions and to check numerical analysis for these NLPDEs.

In recent years, reducing PDEs into ordinary differential equations (ODEs) has proved a successful idea to generate exact solutions of nonlinear wave equations. Many approaches to exact solutions in the literature follow such an idea, which contains the tanh and extended tanh methods [Malfliet (1992) , Malfliet and Hereman (1996), Wazwaz (2007), Taghizadeh and Mirzazadeh (2010), Taghizadeh et al. (2011)], (G'/G)-expansion method [Wang et al. (2008), Zhang et al. (2008), Zhu (2010), Taghizadeh and Mirzazadeh (2011), Biazar and Ayati (2011)], the homogeneous balance method [Wang (1995), Khalfallah (2009)], the Jacobi elliptic function method [Inc and Ergüt (2005)], the exp-function method [He and Wu (2006)], the F-expansion method [Zhang (2006)], the sine-cosine method [Wazwaz (2004)]and so on.

As we know, over the past two decades or so, several expansion methods for finding travelling-wave solutions to nonlinear evolution equations have been proposed, developed and extended. Two of the basic methods are the tanh-function expansion method [Malfliet (1992)] and the basic (G'/G)-expansion method [Wang et al. (2008)]. One extension of the former is the tanh-coth method [Wazwaz (2007)], and one extension of the latter is the extended (G'/G)-expansion method [Zhu (2010)]. In the present paper these two extended methods are applied to the modified improved Kadomtsev-Petviashvili (MIKP) equation in the form [Taghizadeh and Mirzazadeh (2010)]

$$(u_t + u^2 u_x + au_{xxx})_x + bu_{yy} = 0.$$

The outcomes of the two methods are compared.

2. The Two Methods

A PDE

$$F(u, u_x, u_t, u_{xx}, u_{xt}, u_{xxx}, \dots) = 0, \quad (1)$$

can be converted to an ODE

$$G(U, U', U'', U''', \dots) = 0, \quad (2)$$

upon using a wave variable $u(x, t) = U(\xi)$, $\xi = x - ct$. If possible, integrating Equation (2) term by term one or more times yields constant(s) of integration. For simplicity the integration constant(s) can be set to zero.

2.1. The Tanh-Coth Method

This method introduces a new independent variable

$$Y = \tanh(\mu\xi), \quad (3)$$

that leads to the change of derivatives:

$$\frac{d}{d\xi} = \mu(1-Y^2) \frac{d}{dY},$$

$$\frac{d^2}{d\xi^2} = -2\mu^2 Y(1-Y^2) \frac{d}{dY} + \mu^2(1-Y^2)^2 \frac{d^2}{dY^2}. \quad (4)$$

The tanh-coth method admits the use of the finite expansion

$$U(\xi) = S(Y) = \sum_{k=0}^M a_k Y^k + \sum_{k=1}^M b_k Y^{-k}, \quad (5)$$

where M is a positive integer, in most cases, that will be determined. Expansion (5) reduces to the standard tanh method for $b_k = 0$, ($k = 1, \dots, M$). Substituting (5) into the ODE (2) results in an algebraic equation in powers of Y .

To determine the parameter M , we usually balance the linear terms of the highest order in the resulting equation with the highest order nonlinear terms. We then collect all coefficients of powers of Y in the resulting equation where these coefficients have to vanish. This will give a system of algebraic equations involving the parameters a_k ($k = 0, \dots, M$), b_k ($k = 1, \dots, M$), μ and c . Having determined these parameters we obtain an analytic solution $u(x, t)$ in a closed form.

2.2. The Extended (G'/G)-Expansion Method

Introduces the solution $U(\xi)$ of Equation (2) in the finite series form

$$U(\xi) = \sum_{i=0}^M \alpha_i \left(\frac{G'(\xi)}{G(\xi)} \right)^i + \sum_{i=1}^M \beta_i \left(\frac{G'(\xi)}{G(\xi)} \right)^{-i}, \quad (6)$$

where α_i, β_i are real constants to be determined, M is a positive integer to be determined, and the function $G(\xi)$ is the general solution of the auxiliary linear ordinary differential equation

$$G''(\xi) + \lambda G'(\xi) + \gamma G(\xi) = 0, \quad (7)$$

where λ, γ are real constants to be determined.

Expansion (6) reduces to the (G'/G)-expansion method for $\beta_i = 0$, ($i = 1, \dots, M$).

To determine the parameter M , we usually balance the linear terms of the highest order in the resulting equation with the highest order nonlinear terms.

Substituting (6) together with (7) into Equation (2) yields an algebraic equation involving powers of (G'/G) . Equating the coefficients of each power of (G'/G) to zero gives a system of algebraic equations for $\alpha_i, \beta_i, \lambda, \gamma$ and c . Then, we solve the system with the aid of a computer algebra system, such as Maple, to determine these constants. On the other hand, depending on the sign of the discriminant $\Delta = \lambda^2 - 4\gamma$, the solutions of Equation (7) are well known to us. So, we can obtain exact solutions of equation (1).

3. Exact Solutions of MIKP Equation

3.1. Using the Tanh-Coth Method

We consider the MIKP equation

$$u_{tx} + 2uu_x^2 + u^2u_{xx} + au_{xxxx} + bu_{yy} = 0, \quad (8)$$

using the variable $u(x, t) = U(\xi)$, $\xi = x + ly - \beta t$, transforms Equation (8) into the ODE

$$-\beta U'' + 2U(U')^2 + U^2U'' + aU'''' + bl^2U'' = 0. \quad (9)$$

Twice integrating Equation (9) and setting the constant of integrating to zero, we will have

$$(bl^2 - \beta)U + \frac{U^3}{3} + aU'' = 0, \quad (10)$$

Balancing U'' with U^3 in Equation (10) gives

$$M + 2 = 3M,$$

then $M = 1$. In this case, the tanh-coth method in the form (5) admits the use of the finite expansion

$$U(\xi) = S(Y) = a_0 + a_1 Y + \frac{b_1}{Y}. \quad (11)$$

Substituting the form (11) into Equation (10) and using (4), collecting the coefficients of Y we obtain:

$$\text{Coefficients of } Y^3 : \frac{1}{3}a_1^3 + 2aa_1\mu^2.$$

$$\text{Coefficients of } Y^2 : a_0a_1^2.$$

$$\text{Coefficients of } Y^1 : a_0^2a_1 + a_1^2b_1 + (bl^2 - \beta)a_1 - 2aa_1\mu^2.$$

Coefficients of Y^0 : $\frac{1}{3}a_0^3 + 2a_0a_1b_1 + (bl^2 - \beta)a_0$.

Coefficients of Y^{-1} : $a_0^2b_1 + a_1b_1^2 + (bl^2 - \beta)b_1 - 2ab_1\mu^2$.

Coefficients of Y^{-2} : $a_0b_1^2$.

Coefficients of Y^{-3} : $\frac{1}{3}b_1^3 + 2ab_1\mu^2$.

Setting these coefficients equal to zero, and solving the resulting system, using Maple, we find the following sets of solutions:

The first set: (i)

$$a_0 = 0, \quad a_1 = \pm\sqrt{3(\beta - bl^2)}, \quad b_1 = 0, \quad \mu = \pm\sqrt{\frac{bl^2 - \beta}{2a}}. \quad (12)$$

The second set: (ii)

$$a_0 = 0, \quad a_1 = 0, \quad b_1 = \pm\sqrt{3(\beta - bl^2)}, \quad \mu = \pm\sqrt{\frac{bl^2 - \beta}{2a}}. \quad (13)$$

The third set: (iii)

$$a_0 = 0, \quad a_1 = \pm\frac{1}{2}\sqrt{3(\beta - bl^2)}, \quad b_1 = \pm\frac{1}{2}\sqrt{3(\beta - bl^2)}, \quad \mu = \pm\frac{1}{2}\sqrt{\frac{bl^2 - \beta}{2a}}. \quad (14)$$

For $bl^2 - \beta < 0$, $a < 0$ the sets (12)-(14) give the solitons solutions

$$u_1(x, t) = \pm\sqrt{3(\beta - bl^2)} \tanh\left[\sqrt{\frac{bl^2 - \beta}{2a}}(x + ly - \beta t)\right], \quad (15)$$

$$u_2(x, t) = \pm\sqrt{3(\beta - bl^2)} \coth\left[\sqrt{\frac{bl^2 - \beta}{2a}}(x + ly - \beta t)\right], \quad (16)$$

$$u_3(x, t) = \pm\frac{1}{2}\sqrt{3(\beta - bl^2)} \left(\tanh\left[\frac{1}{2}\sqrt{\frac{bl^2 - \beta}{2a}}(x + ly - \beta t)\right] + \coth\left[\frac{1}{2}\sqrt{\frac{bl^2 - \beta}{2a}}(x + ly - \beta t)\right] \right). \quad (17)$$

Note that, by use of the identity [Parkes (2010)]

$$\tanh\left(\frac{\theta}{2}\right) + \coth\left(\frac{\theta}{2}\right) = 2 \coth(\theta),$$

(17) is identical to (16).

However, for $bl^2 - \beta > 0$, we obtain the travelling wave solutions

$$u_4(x, t) = \pm \sqrt{3(bl^2 - \beta)} \tan\left[\sqrt{\frac{\beta - bl^2}{2a}}(x + ly - \beta t)\right], \tag{18}$$

$$u_5(x, t) = \pm \sqrt{3(bl^2 - \beta)} \cot\left[\sqrt{\frac{\beta - bl^2}{2a}}(x + ly - \beta t)\right], \tag{19}$$

$$u_6(x, t) = \pm \frac{1}{2} \sqrt{3(bl^2 - \beta)} \left(\tan\left[\frac{1}{2} \sqrt{\frac{\beta - bl^2}{2a}}(x + ly - \beta t)\right] - \cot\left[\frac{1}{2} \sqrt{\frac{\beta - bl^2}{2a}}(x + ly - \beta t)\right] \right). \tag{20}$$

Note that, by use of the identity [Parkes (2010)]

$$\cot\left(\frac{\theta}{2}\right) - \tan\left(\frac{\theta}{2}\right) = 2 \cot(\theta),$$

(20) is identical to (19).

3.2. Using the Extended (G'/G)-Expansion Method

Recall that $M = 1$ as derived before. Using (6), the extended (G'/G)-expansion method admits the use of the finite expansion

$$U(\xi) = \alpha_0 + \alpha_1 \left(\frac{G'}{G}\right) + \beta_1 \left(\frac{G'}{G}\right)^{-1}. \tag{21}$$

Substituting (21) into (10), setting coefficients of $\left(\frac{G'}{G}\right)^i$ to zero, we obtain the following underdetermined system of algebraic equations for $\alpha_i, \beta_i, \lambda, \gamma$ and β :

$$\left(\frac{G'}{G}\right)^3 : \frac{1}{3}\alpha_1^3 + 2a\alpha_1 = 0,$$

$$\left(\frac{G'}{G}\right)^2 : \alpha_0\alpha_1^2 + 3a\lambda\alpha_1 = 0,$$

$$\left(\frac{G'}{G}\right)^1 : \alpha_0^2\alpha_1 + (b - \beta + a\lambda^2 + 2a\gamma)\alpha_1 + \alpha_1^2\beta_1 = 0,$$

$$\left(\frac{G'}{G}\right)^0 : \frac{1}{3}\alpha_0^3 + (b - \beta)\alpha_0 + 2\alpha_0\alpha_1\beta_1 + a\lambda\gamma\alpha_1 + a\lambda\beta_1 = 0,$$

$$\left(\frac{G'}{G}\right)^{-1} : \alpha_0^2\beta_1 + (b - \beta + a\lambda^2 + 2a\gamma)\beta_1 + \alpha_1\beta_1^2 = 0,$$

$$\left(\frac{G'}{G}\right)^{-2} : \alpha_0\beta_1^2 + 3a\lambda\gamma\beta_1 = 0,$$

$$\left(\frac{G'}{G}\right)^{-3} : \frac{1}{3}\beta_1^3 + 2a\gamma^2\beta_1 = 0.$$

Solving this system using Maple gives

Case 1:

$$\alpha_0 = \pm \frac{\lambda}{2}\sqrt{-6a}, \quad \alpha_1 = \pm\sqrt{-6a}, \quad \beta_1 = 0, \quad \beta = \frac{-1}{2}a\lambda^2 + 2a\gamma + bl^2. \quad (22)$$

Case 2:

$$\alpha_0 = \pm \frac{\lambda}{2}\sqrt{-6a}, \quad \alpha_1 = 0, \quad \beta_1 = \pm\gamma\sqrt{-6a}, \quad \beta = \frac{-1}{2}a\lambda^2 + 2a\gamma + bl^2. \quad (23)$$

Case 3:

$$\alpha_0 = \pm \frac{\lambda}{2}\sqrt{-6a}, \quad \alpha_1 = \pm\sqrt{-6a}, \quad \beta_1 = \pm\gamma\sqrt{-6a}, \quad \beta = \frac{-1}{2}a\lambda^2 + 8a\gamma + bl^2. \quad (24)$$

where λ and γ are arbitrary constants. Substituting Equation (22) into Equation (21) yields

$$U(\xi) = \pm \frac{\lambda}{2} \sqrt{-6a} \pm \sqrt{-6a} \left(\frac{G'}{G} \right), \quad (25)$$

where $\xi = x + ly - \left(\frac{-1}{2} a\lambda^2 + 2a\gamma + bl^2 \right) t$.

Substituting general solutions of Equation (7) into Equation (25), we have three types of traveling wave solutions of the MJKP equation as follow.

When $\lambda^2 - 4\gamma > 0$

$$u_{11}(\xi) = \frac{1}{2} \sqrt{-6a(\lambda^2 - 4\gamma)} \left(\frac{A \sinh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right] + B \cosh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right]}{A \cosh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right] + B \sinh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right]} \right), \quad (26)$$

where $\xi = x + ly - \left(\frac{-1}{2} a\lambda^2 + 2a\gamma + bl^2 \right) t$.

When $\lambda^2 - 4\gamma < 0$

$$u_{12}(\xi) = \frac{1}{2} \sqrt{-6a(4\gamma - \lambda^2)} \left(\frac{-A \sin\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right] + B \cos\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right]}{A \cos\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right] + B \sin\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right]} \right), \quad (27)$$

where $\xi = x + ly - \left(\frac{-1}{2} a\lambda^2 + 2a\gamma + bl^2 \right) t$.

When $\lambda^2 - 4\gamma = 0$

$$u_{13}(\xi) = \pm \frac{\sqrt{-6a} B}{A + B \xi}, \quad (28)$$

where $\xi = x + ly - \left(\frac{-1}{2} a\lambda^2 + 2a\gamma + bl^2 \right) t$.

In solutions (26) – (28), A and B are left as free parameters.

In particular, if $A \neq 0$, $B = 0$ and $\lambda = 0$, then u_{11} becomes

$$u_{11}(\xi) = \pm \sqrt{3(\beta - bl^2)} \tanh\left[\sqrt{\frac{bl^2 - \beta}{2a}}(x + ly - \beta t)\right], \quad (29)$$

where $bl^2 - \beta < 0$, $a < 0$ and u_{12} becomes

$$u_{12}(\xi) = \pm \sqrt{3(bl^2 - \beta)} \tan\left[\sqrt{\frac{\beta - bl^2}{2a}}(x + ly - \beta t)\right], \quad (30)$$

where $bl^2 - \beta > 0$, $a < 0$.

The solutions (29) and (30) are same the solutions (15) and (18) respectively.

These special results show that the extended (G'/G)-expansion method obtains general solutions and it can be seen that the solutions obtained by using tanh-coth method, are special cases of these solutions. Our observations are in agreement with those in Biazar and Ayati (2011).

Substituting Equation (23) into Equation (21) yields

$$U(\xi) = \pm \frac{\lambda}{2} \sqrt{-6a} \pm \gamma \sqrt{-6a} \left(\frac{G'}{G}\right)^{-1}, \quad (31)$$

where $\xi = x + ly - \left(\frac{-1}{2}a\lambda^2 + 2a\gamma + bl^2\right)t$.

Substituting general solutions of Equation (7) into Equation (31), we have three types of traveling wave solutions of the MKP equation as follow.

When $\lambda^2 - 4\gamma > 0$

$$u_{21}(\xi) = \pm \frac{\lambda}{2} \sqrt{-6a} \pm \gamma \sqrt{-6a} \left(\frac{\sqrt{\lambda^2 - 4\gamma}}{2} \left(\frac{A \sinh\left[\frac{1}{2}\sqrt{\lambda^2 - 4\gamma}\xi\right] + B \cosh\left[\frac{1}{2}\sqrt{\lambda^2 - 4\gamma}\xi\right]}{A \cosh\left[\frac{1}{2}\sqrt{\lambda^2 - 4\gamma}\xi\right] + B \sinh\left[\frac{1}{2}\sqrt{\lambda^2 - 4\gamma}\xi\right]} - \frac{\lambda}{2} \right) \right)^{-1}, \quad (32)$$

where $\xi = x + ly - \left(\frac{-1}{2}a\lambda^2 + 2a\gamma + bl^2\right)t$.

When $\lambda^2 - 4\gamma < 0$

$$u_{22}(\xi) = \pm \frac{\lambda}{2} \sqrt{-6a} \pm \gamma \sqrt{-6a} \left(\frac{\sqrt{4\gamma - \lambda^2}}{2} \left(\frac{-A \sin[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi] + B \cos[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi]}{A \cos[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi] + B \sin[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi]} - \frac{\lambda}{2} \right) \right)^{-1}, \quad (33)$$

where $\xi = x + ly - (\frac{-1}{2}a\lambda^2 + 2a\gamma + bl^2)t$.

When $\lambda^2 - 4\gamma = 0$

$$u_{23}(\xi) = \pm \frac{\lambda}{2} \sqrt{-6a} \pm \gamma \sqrt{-6a} \left(\frac{B}{A + B\xi} - \frac{\lambda}{2} \right)^{-1}, \quad (34)$$

where $\xi = x + ly - (\frac{-1}{2}a\lambda^2 + 2a\gamma + bl^2)t$.

In solutions (32) – (34), A and B are left as free parameters.

In particular, if $A \neq 0$, $B = 0$ and $\lambda = 0$, then u_{21} becomes

$$u_{21}(\xi) = \pm \sqrt{3(\beta - bl^2)} \coth \left[\sqrt{\frac{bl^2 - \beta}{2a}} (x + ly - \beta t) \right], \quad (35)$$

where $bl^2 - \beta < 0$, $a < 0$ and u_{22} becomes

$$u_{22}(\xi) = \pm \sqrt{3(bl^2 - \beta)} \cot \left[\sqrt{\frac{\beta - bl^2}{2a}} (x + ly - \beta t) \right], \quad (36)$$

where $bl^2 - \beta > 0$, $a < 0$.

The solutions (35) and (36) are same the solutions (16) and (19) respectively.

These special results show that the extended (G'/G)-expansion method obtains general solutions and it can be seen that the solutions obtained by using tanh-coth method, are special cases of these solutions. Our observations are in agreement with those in [Biazar and Ayati (2011)].

Substituting Equation (24) into Equation (21) yields

$$U(\xi) = \pm \frac{\lambda}{2} \sqrt{-6a} \pm \sqrt{-6a} \left(\frac{G'}{G} \right) \pm \gamma \sqrt{-6a} \left(\frac{G'}{G} \right)^{-1}, \quad (37)$$

where $\xi = x + ly - \left(\frac{-1}{2} a \lambda^2 + 8a\gamma + bl^2 \right) t$.

Substituting general solutions of Equation (7) into Equation (37), we have three types of traveling wave solutions of the MJKP equation as follow.

When $\lambda^2 - 4\gamma > 0$

$$\begin{aligned} u_{31}(\xi) = & \pm \frac{\lambda}{2} \sqrt{-6a} \\ & \pm \sqrt{-6a} \left(\frac{\sqrt{\lambda^2 - 4\gamma}}{2} \left(\frac{A \sinh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right] + B \cosh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right]}{A \cosh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right] + B \sinh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right]} \right) - \frac{\lambda}{2} \right) \\ & \pm \gamma \sqrt{-6a} \left(\frac{\sqrt{\lambda^2 - 4\gamma}}{2} \left(\frac{A \sinh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right] + B \cosh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right]}{A \cosh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right] + B \sinh\left[\frac{1}{2} \sqrt{\lambda^2 - 4\gamma} \xi\right]} \right) - \frac{\lambda}{2} \right)^{-1}, \end{aligned} \quad (38)$$

where $\xi = x + ly - \left(\frac{-1}{2} a \lambda^2 + 8a\gamma + bl^2 \right) t$.

When $\lambda^2 - 4\gamma < 0$

$$\begin{aligned} u_{32}(\xi) = & \pm \frac{\lambda}{2} \sqrt{-6a} \\ & \pm \sqrt{-6a} \left(\frac{\sqrt{4\gamma - \lambda^2}}{2} \left(\frac{-A \sin\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right] + B \cos\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right]}{A \cos\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right] + B \sin\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right]} \right) - \frac{\lambda}{2} \right) \\ & \pm \gamma \sqrt{-6a} \left(\frac{\sqrt{4\gamma - \lambda^2}}{2} \left(\frac{-A \sin\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right] + B \cos\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right]}{A \cos\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right] + B \sin\left[\frac{1}{2} \sqrt{4\gamma - \lambda^2} \xi\right]} \right) - \frac{\lambda}{2} \right)^{-1}, \end{aligned} \quad (39)$$

where $\xi = x + ly - \left(\frac{-1}{2}a\lambda^2 + 8a\gamma + bl^2\right)t$.

When $\lambda^2 - 4\gamma = 0$

$$u_{33}(\xi) = \pm \frac{\lambda}{2} \sqrt{-6a} \pm \sqrt{-6a} \left(\frac{B}{A + B\xi} - \frac{\lambda}{2} \right) \pm \gamma \sqrt{-6a} \left(\frac{B}{A + B\xi} - \frac{\lambda}{2} \right)^{-1}, \quad (40)$$

where $\xi = x + ly - \left(\frac{-1}{2}a\lambda^2 + 8a\gamma + bl^2\right)t$.

In solutions (38) – (40), A and B are left as free parameters.

In particular, if $A \neq 0$, $B = 0$ and $\lambda = 0$, then u_{31} becomes

$$u_{31}(\xi) = \pm \frac{1}{2} \sqrt{3(\beta - bl^2)} \left(\tanh \left[\frac{1}{2} \sqrt{\frac{bl^2 - \beta}{2a}} (x + ly - \beta t) \right] \right. \\ \left. + \coth \left[\frac{1}{2} \sqrt{\frac{bl^2 - \beta}{2a}} (x + ly - \beta t) \right] \right), \quad (41)$$

where $bl^2 - \beta < 0$, $a < 0$ and u_{32} becomes

$$u_{32}(\xi) = \pm \frac{1}{2} \sqrt{3(bl^2 - \beta)} \left(\tan \left[\frac{1}{2} \sqrt{\frac{\beta - bl^2}{2a}} (x + ly - \beta t) \right] \right. \\ \left. - \cot \left[\frac{1}{2} \sqrt{\frac{\beta - bl^2}{2a}} (x + ly - \beta t) \right] \right), \quad (42)$$

where $bl^2 - \beta > 0$, $a < 0$.

The solutions (41) and (42) are same as the solutions (17) and (20) respectively. These special results show that the extended (G'/G)-expansion method obtains general solutions and it can be seen that the solutions obtained by using tanh-coth method, are special cases of these solutions. Our observations are in agreement with those in [Biazar and Ayati (2011)].

4. Conclusion

In this paper, the tanh-coth and the extended (G'/G)-expansion methods have been successfully applied to find the exact solutions for the modified improved Kadomtsev-Petviashvili equation.

The two methods are powerful and are applicable to many nonlinear evolution equation. Comparing the tanh-coth method with the extended (G'/G)-expansion method, shows that the two methods under special conditions are equivalent. In fact, the exact traveling wave solutions obtained by using the extended (G'/G)-expansion method are more general and the tanh-coth method is a special case of this method.

Acknowledgement

The authors would like to express sincerely thanks to the reviewers whose suggestions and remarks have greatly helped us to improve the quality of the manuscript.

REFERENCES

- Biazar, J. and Ayati, Z. (2011). Improved (G'/G)-expansion method and comparing with tanh-coth method, *Applications and Applied Mathematics*, Vol. 6, No. 1, pp. 240-250.
- He, J.H. and Wu, X.H. (2006). Exp-function method for nonlinear wave equations, *Chaos Solitons Fractals*, Vol. 30, pp. 700-708.
- Inc, M. and Ergüt, M. (2005). Periodic wave solutions for the generalized shallow water wave equation by the improved Jacobi elliptic function method, *Appl. Math. E-Notes*, Vol. 5, pp. 89-96.
- Khalfallah, M. (2009). New exact travelling wave solutions of the (3+1) dimensional Kadomtsev-Petviashvili (KP) equation, *Commun. Nonlinear Sci. Numer. Simul.*, Vol. 14, pp. 1169-1175.
- Malfliet, W. (1992). Solitary wave solutions of nonlinear wave equations, *Am. J. Phys.*, Vol. 60, No. 7, pp. 650-654.
- Malfliet, W. and Hereman, W. (1996). The tanh method: I. Exact solutions of nonlinear evolution and wave equations, *Phys. Scripta*, Vol. 54, pp. 563-568.
- Parkes, E.J. (2010). Observations on the tanh-coth expansion method for finding solutions to nonlinear evolution equations, *Appl. Math. Comput.*, Vol. 217, pp. 1749-1754.
- Taghizadeh, N. and Mirzazadeh, M. (2011). Analytic Investigation of the KP Joseph-Egri Equation for Traveling Wave Solutions, *Applications and Applied Mathematics*, Vol. 6, No. 11, pp. 2033- 2044.
- Taghizadeh, N. and Mirzazadeh, M. (2010). Exact solutions to the modified improved Kadomtsev Petviashvili equation and double sine-Gordon equation by the extended tanh method, *Far East J. Appl. Math.* Vol. 46, pp. 25-31.
- Taghizadeh, N., Mirzazadeh, M. and Moosavi Noori, S.R. (2011). Exact solutions of (2+1)-dimensional nonlinear evolution equations by using the extended tanh method, *Aust. J. Basic & Appl. Sci.*, Vol. 5, No. 6, pp. 1474-1481.
- Wang, M.L. (1995). Solitary wave solutions for variant Boussinesq equations, *Phys. Lett. A*, Vol. 199, pp. 169-172.
- Wang, M.L., Li, X.Z. and Zhang, J.L. (2008). The (G'/G)-expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics, *Phys. Lett. A*, Vol. 372, pp. 417- 423.
- Wazwaz, A.M. (2004). The sine-cosine method for obtaining solutions with compact and noncompact structures, *Appl. Math. Comput.* Vol. 159, No. 2, pp. 559-576.

- Wazwaz, A.M. (2007). Multiple-soliton solutions for the Boussinesq equation, *Appl. Math. Comput.*, Vol. 192, pp. 479-486.
- Wazwaz, A.M. (2007). The extended tanh method for abundant solitary wave solutions of nonlinear wave equations, *Appl. Math. Comput.*, Vol. 187, pp. 1131-1142.
- Zhang, J., Wei, X. and Lu, Y. (2008). A generalized (G'/G)-expansion method and its applications, *Phys. Lett. A*. Vol. 372, pp. 3653-3658.
- Zhang, S. (2006). The periodic wave solutions for the (2+1)-dimensional Konopelchenko-Dubrovsky equations, *Chaos Solitons Fractals*, Vol. 30, pp. 1213-1220.
- Zhu, S.D. (2010). The extended (G'/G)-expansion method and traveling wave solutions of nonlinear evolution equations, *Math. Comput. Appl.*, Vol. 15, No. 5, pp. 924-929.